T&T6 2.8 Surd Equations October 18, 2013

Exercise 2.8

1. One side of a rectangular park is (x + 2) m long and the other (x — 2)m wide.
Find an expression for the length of the diagonal. leaving your answer in
surd form.
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2. (a) Find the length of the diagonal A (2 +V3)km D
[AC] of the rectangular field ABCD. =
(b) One runner completes a full (2 —3)km -“"“»._4/

circuit ABCDA on a path, at a T
rate of L.5ms™L

A second runner runs from A to C
and then back to A across the ficld
at a rate of 1.4ms L

(1) Express, in surd form, the difference in the distances travelled by the
two runners.

(1) Calculate the time difference between the two runners, correct to the
nearest second.
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(b) Io aumee L) = 2255 + 2485 +265 + 245 =2
() gk Rupmere Lo = §¢ + S = 254
oliffetemce: 0 - Lo = g - 204
) % time = clistance / Spaeed
+ = %/1'5 = 533 Secondts
, = Z-\rl‘f/l'q = 148 Secerwals
fine diffetence = 4 -533 = 2:15 Res
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